
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 233 308 383 458 758 908Différence commune:2. 816 811 796Différence commune:3. 606 556 456 406 356Différence commune:4. 735 745 750 755 765 775Différence commune:5. 791 541Différence commune:6. 389 589 639 689 789Différence commune:7. 300 600 1000Différence commune:8. 910 835 685 610 460 235Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 233 308 383 458 533 608 683 758 833 908Différence commune: 752. 831 826 821 816 811 806 801 796 791 786Différence commune: -53. 806 756 706 656 606 556 506 456 406 356Différence commune: -504. 735 740 745 750 755 760 765 770 775 780Différence commune: 55. 791 741 691 641 591 541 491 441 391 341Différence commune: -506. 389 439 489 539 589 639 689 739 789 839Différence commune: 507. 100 200 300 400 500 600 700 800 900 1000Différence commune: 1008. 910 835 760 685 610 535 460 385 310 235Différence commune: -75Mathslibres.com


